SURVIVAL PROJECTION MODEL

by
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HMA = number of hatchlings given adult mortility is equal to that of juveniles
and sub-adults.
N = number of adults

= number of turtles entering aduit group
= instantaneous mortality rate of adults
tA] = age at which turtles reach adulthood

tmax = maximum age of turtles

Nmin = number of turtles left at maximum age

NSA] = number of turtles entering sub-adult group
tSA] = age at which turtles enter sub-adult group
MSA = instantaneous mortality rate of sub-adults
NSA = number of sub-adults

NH = number of hatchlings entering water

NJ = number of juveniles

-MJ = instantaneous mortality rate of juveniles

Using the above notation and the following formulae, NJ, NSA and the mortality
rates (MJ, Mcps and MA) can be calculated.
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NA’ tA]’ and tmax are known (or assumed) and MA can be found numerically using

Newton's Method from (3) - then NA1 can be obtained from (2).



Assuming subadult mortility (MSA) is a function of adult morta1ity'(MA) such as
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Then mortality for juveniles (MJ) can be found from
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Newton's Method

F (MA) is a specified function of the adult mortality rate, i.e.,
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where n is the interation.
solution (MA) converges.
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Recursion equation (4) is repeated until the



